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5 2Afe] BAGHS RAA 1% A5 258 4~6810, Fot 1~38Hd, 158k 1~381o]

Aek g2l spoleh, WA 167) Foam, s, shad shE G 1-1)o] Helsier,
AA| ARG s 5,738, 7317%01H 2t Shig ' s 255kl 1,821,490%(31.7%),
3l 1,963,789 (34. 2%) 158kl 1,953,4527(34.1%)0t}, 1158tale] 7 dntA 1153}
1 1,490,496%8(26.0%), H&A 1153 462,956 0H8. 1%).
i I-1 XexepIxotuy st
zSstu Fslu Zut nSstw | MEA uSstw
=} 5t
TE| ™ 4t |58t (6ot |18t |2stA |35t |15t |25hE |3t |1stiA |25 |3stiA
Mg [1,016,117]103690(101,828|105,684|111,511| 113841| 118508| 100,703| 99,789|101,783| 19,843 19,174/ 19,758
24 | 375,267] 36,188| 36,189 38,178| 40,638 43,055 44,933| 33492 33911 34,414/ 11,079| 11,269 11,921

i+ | 310,395| 30,708 31,256| 31,969 34,687 | 35,530 37,371| 28,651| 28,750| 28810| 7,619| 7,356| 7,688
QIF | 325,321|33349| 33,434/ 34,312| 36,257 | 36,817 38,464 | 29,778| 29,121 29.485| 8,001| 8,127| 8176
4T | 202,266| 21,444| 21,134| 22,184| 23,188| 22,995| 23,859 18,022| 17,386| 17,102| 5,004| 5015 4933
CHM | 189,814( 19859 19,536| 20,520| 21,278| 21,757| 22,431| 17,948 17,516| 17,698| 3887| 3,751| 3,633
= | 150,316] 15,003] 15,205| 15,915| 16,799| 17,217 17,942| 13,816 13,768| 13,849| 3,786| 3574| 3442
47| [1,401,548|155309| 152,231 | 155605 | 159,002 | 158 708 | 161,549 121,249 | 115,716 | 112464 | 36,127 36,031| 37,557
4# | 169,832|18,157| 18,170| 18922| 19,279| 19,203| 19,586| 11,331 10,854| 10,714| 7,958| 7,784| 7,874
&5 | 181,176]19,095| 19,019| 19,896| 20,546 20,920| 21,180 13592| 13,969| 13649| 6,742| 6,352| 6,216
Sd | 230,244]25,463| 24,809| 25,706| 25,859| 25,870| 26,212| 19,689| 19,035 18,744| 6556 6,289| 6,012
TE | 222,263 23,320| 22,942| 24,263 | 24,853| 25,400| 25,986 | 17,074| 16,852| 16,666| 8616 8222 8,069
ME | 215,295|22,917| 22,944| 23609 24,151 | 24,505| 25,065| 16,605| 16,314| 16,212| 7,836 7,568 7,569
45 | 285,611]30,448|30,461| 30,341| 32,118| 32,026| 32,849| 23,288| 22,742| 22,581| 9,567| 9,397| 9,793
4dd | 390,559| 41,778| 41,616| 42,923 43,837 45,088 45,860 33,627| 33,255| 32,740| 10,295| 9,815| 9,725
NES 72,707| 8131| 7,879 7951| 8332| 8266| 8461| 5334| 5260| 5143 2,809| 2,610| 2,531
217 15,738,731604,859|598,653 617,978 642,335 651,198 670,256 504,199 494,238 1492,059 155,725 152,334 154,897
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2 ZAR] AA B REA7= AR UG B AIZRS ateste] (R 1-2)¢F o] 8,500 0=
A7steict, o] o Hul&o] 2Aof tiste] didEls FE A= dedYFES Mt A4S
95% AlF4=E stollA £1.1%Po|tt,

S0 AF AR S0 BT dapds wol7] Slel 2ARLTS 20109 wREA AR
of $EH A= 258y, FIMY, LFIHE S 712 AR (FYAIE, 16702 Shalti (%

FUATARAT 5 IS F3pEE nefeigrt

El-2  %@3xtdy 2N93l), 2 237
. . EHAH| 2 CELELE
dug | ad 2yea) Sl | sl
4 | 604,859
I 1,821,490 2,698 2,326
ASSL | ZSstu| 5 | 598,653 (31.7%) (31.7%) (27.0%)
6 | 617,978
1| 642,335
=87 | =5 1,963,789 2,908 2657
Sl | 38t | 2 | 651,198 (34.5%) (34.2%) (30.9%)
3 | 670,256
1| 504,199
WAz | 2 | 494238 | Y35 gy (6.0 (08.4%)
] 3 | 492,059 1 953452 2,893 3629
kS jeiami 1| 155725 (34.0%) (34.0%) (42.1%)
XJ‘E‘I”J__, 2 152,334 4(682i9°/l°5)6 (86?%) (.3'5332)
3 | 154897
- 5,738,731 8,500 8612
= (100.0%) (100.0%) (100.0%)




I-3 CeH R A% E237] BY

B |ZS8w) S8y [UUAD MBAT) BA |£SEw| FStw |UHAD HEAD
1505 | 462 | 509 | 448 86 | 472 | 168 | 149 | 124 3.1
556 | 165 | 191 | 151 51 | 185 6.6 5.8 43 1.9

460 138 159 128 33 14.2 5.1 4.4 3.5 1.1

482 | 150 | 166 | 131 36 | 160 | 62 | 47 | 39 | 12

300 96 103 78 21 9.1 3.6 2.8 2.1 0.6

281 88 97 79 17 9.0 3.4 2.8 2.2 0.6

223 69 7”7 61 16 7.1 2.7 2.3 1.6 0.5

2076 | 685 | 709 | 518 | 163 | 649 | 257 | 202 | 140 | 50

252 82 86 49 36 12.0 5.2 3.5 1.8 1.5

268 85 92 61 28 10.7 4.5 3.4 1.8 0.9

341 113 115 85 28 14.1 6.3 4.1 2.7 1.1

329 105 113 75 37 15.2 6.5 4.7 2.5 1.5

319 103 109 73 34 15.1 6.5 4.5 2.5 1.6

423 135 144 101 43 19.3 8.1 6.1 3.4 1.7

578 188 200 148 44 23.0 9.5 7.2 4.6 1.6

108 36 37 24 12 4.0 1.7 1.2 0.7 0.4

8500 | 2.698 | 2.008 | 2.208 | 687 | 299.4 | 1185 | 926 | 641 | 242

I I-4 HYH[ U 2o o3t T3] ¥F
st S mE

gl | =SSt | Sstw |[YutAT [ MEAD| A |ZSstu| Sstu |Ub T |[MEA D
1,443 413 512 434 84 45 | 15(5) | 15(5) | 12(4) 3(1)
536 149 198 107 82 18 | 6(2) 6(2) 3(1) 3(1)
388 80 107 108 93 12 [ 3(1) 3(1) 3(1) 3(1)
441 146 107 100 88 15 | 6(2) 3(1) 3(1) 3(1)
406 80 111 114 101 12 | 3(1) 3(1) 3(1) 3(1)
376 79 103 107 87 12 [ 3(1) 3(1) 3(1) 3(1)
383 76 102 112 93 12 | 3(1) 3(1) 3(1) 3(1)
1,732 559 631 444 98 54 | 21(7) | 18(6) | 12(4) 3(1)
278 47 74 83 74 12 | 3(1) 3(1) 3(1) 3(1)
326 57 81 99 89 12 | 3(1) 3(1) 3(1) 3(1)
366 108 84 95 79 15 | 6(2) 3(1) 3(1) 3(1)
333 97 72 90 74 15 | 6(2) 3(1) 3(1) 3(1)
318 95 73 86 64 15 | 602 3(1) 3(1) 3(1)
409 100 141 90 78 18 | 6(2) 6(2) 3(1) 3(1)
521 178 166 96 81 21 9(3) 6(2) 3(1) 3(1)
356 62 95 106 93 12 | 3(1) 3(1) 3(1) 3(1)

102(34) | 84(28) | 66(22) | 48(16)

8,612 | 2,326 | 2,657 | 2,271 | 1,358 300
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24 536 | 56 53 51 62 67 65 39 33 29 28 24 29
i+t | 396 | 26 29 29 32 27 42 39 39 39 35 26 33
Q1M | 470 | 49 54 : 58 39 35 39 36 37 37 27 28 31
31383 | 26 28 30 30 38 38 38 35 24 | 35 30 31
& | 362 | 33 31 31 35 33 23 35 36 27 31 21 26
370 | 34 26 23 38 27 32 33 35 40 25 26 31
1,822 | 199 | 216 { 210 | 223 | 223 | 217 | 143 1 154 { 149 | 34 | 24 | 30
395 | 30 33 28 34 35 37 38 40 38 32 25 25
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A2 7181 100(8,513) 1.1 1.8 8.3 88.7 0.1
JIERAN |SIEE A 100(743) 1.5 2.4 10.6 85.3 0.1
X&THH 100(82) 1.2 7.3 8.5 82.9 0.0
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M| 100(9,435) 1.1 2.5 11.8 84.5 0.1
A =L 100(4,874) 1.6 3.1 14,7 80.4 0.1
= O Xt 100(4,561) 0.5 1.8 8.6 88.9 0.1
A58 1100(2,943) 1.6 2.3 8.9 87.1 0.1
mi=1-:| Fatw  1100(2,844) 1.1 3.5 14,7 80.5 0.2
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HEX| ZAAl 100(2,432) 0.8 3.0 115 84.6 0.1
Al 100(5,610) 1.0 2.3 11.8 84.8 0.1
UEDE74H1100(8,513) 1.0 2.3 11.7 84.9 0.1
ZHERY [SHERIFE| 100(743) 1.7 4.2 13.3 80.6 0.1
Z&748 | 100(82) 2.4 1.2 13.4 81.7 1.2
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senel 84 | mAME) |24 ago|nx agy| S0E (FOFY esg
M| 100(9,435) 1.1 3.7 16.4 78.7 0.1
e =L 100(4,874) 1.6 5.1 21.1 72.2 0.1
°= o Xt 100(4,561) 0.7 2.1 11.5 85.7 0.0
58w [100(2,943) 1.1 1.5 8.9 88.4 0.1
A== &t [100(2,844) 0.8 3.8 17.3 78.0 0.0
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M2 100(1,393) 1.0 45 15.9 78.6 0.1
HEX| ZAA [100(2,432) 1.3 4.4 16.9 7.4 0.1
A2 |100(5,610) 1.1 3.1 16.4 79.3 0.0
UEDE74H1100(8,513) 1.0 3.5 15,7 79.7 0.0
ZHERY [SHERIFE| 100(743) 2.3 5.1 23.8 68.5 0.3
Z£I1 | 100(82) 2.4 3.7 25.6 68.3 0.0
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T 100(9,435) 1.2 4,7 25.1 68.9 0.1
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258w [100(2,943) 0.8 1.8 16.2 81.2 0.1

ug 8w 1100(2,844) 1.2 5.5 28.8 64.5 0.0
58w [100(3,648) 1.5 6.4 29.5 62.5 0.0

M2 100(1,393) 1.7 4.4 25.9 67.8 0.1

HEX]| ZAA [100(2,432) 1.2 5.1 26.4 67.4 0.0
A2 |100(5,610) 1.1 4.6 24.4 69.9 0.0

Y227 1100(8,513) 1.1 45 249 69.5 0.0
ZIEFN |SHERIPE | 100(743) 2.3 7.7 27.9 62.0 0.1
ZE71E | 100(82) 1.2 4.9 22.0 72.0 0.0
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©= Of Xt 100(4,561) 0.7 2.2 11.7 85.3 0.1
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JIETY |BREEIE | 100(743) 2.0 5.2 21.3 71.2 0.3
Z&748 | 100(82) 2.4 7.3 22.0 68.3 0.0
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ps| 100(9,435) 1.3 2.9 13.1 82.6 0.1
At =N 100(4,874) 1.9 4.4 19.6 73.9 0.2
°= O Xt 100(4,561) 0.5 1.3 6.1 92.0 0.0
ZE&W [100(2,943) 1.2 2.2 12.0 84.4 0.2
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1Ssa |100(3,648) 1.1 2.4 11.7 84.8 0.0
NE 100(1,393) 1.4 3.6 13.9 80.8 0.3
HEX| ZAAl 100(2,432) 0.9 2.6 13.2 83.1 0.1
Al-2 100(5,610) 1.4 2.9 12.8 82.9 0.1
AEDIHH|100(8,513) 1.2 2.8 12.9 82.9 0.1
JHEFN (SEEIPE| 100(743) 1.5 3.6 13.9 80.9 0.1
B 100(82) 1.2 6.1 18.3 73.2 1.2
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&0 100(82) 49 6.1 20.7 68.3 0.0
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HEX| ZAAl 100(2,432) 1.5 3.5 18.1 76.9 0.1
Al 100(5,610) 1.7 2.9 15.9 79.4 0.1
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158w [100(3,648) 1.5 3.2 16.7 78.5 0.0
NE 100(1,393) 1.9 3.7 16.9 77.3 0.1
HEX| ZAAl 100(2,432) 0.9 2.8 16.1 80.1 0.0
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o 57 vebdal, aadEe 25914(02.2%)3 a5 3HY(91.3%)°] FEH(87.1%)° vls]

tE & el Aldke oMl G718 Ao el SRt el o el AFAER
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R 2E7Pel His) T A=Al SHE HEo] =AYb

&
1.8%

t

H

rl

(09 11-60] T8 & W29 AY2S T3 278 A58
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b 100(9,435) 0.6 1.2 7.8 90.3 0.1
b =t 100(4,874) 0.9 2.0 11.8 85.2 0.1
°= o &t 100(4,561) 0.2 0.4 3.6 95.8 0.0
58w [100(2,943) 0.7 1.0 6.0 92.2 0.0
w4 F&tw  [100(2,844) 0.5 1.6 10.7 87.1 0.1
58w [100(3,648) 0.5 1.0 7.1 91.3 0.1
M2 100(1,393) 0.9 1.9 9.8 87.4 0.1
HZEX| ZAA [100(2,432) 0.5 1.3 8.6 89.6 0.0
Al [100(5,610) 0.6 1.0 7.0 91.4 0.0
YEDIPH1100(8,513) 0.6 1.2 7.6 90.6 0.0
HETY |SREEIHE| 100(743) 0.8 0.9 10.6 87.2 0.4
X270 [ 100(82) 0.0 3.7 8.5 87.8 0.0

80



‘=7t AYS RoiA stH AZEo| Lol cHalA
‘aYho SHE0| 45%, ‘1| YCHE 95.4%7 S

0 w7 AL FIPA ShE AFRo] ek Byl Hhel, Sue) 4,597k agrekn

P

my

ic|

(29 1I-61] 7t AYS RO ot HFHol 2h
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a¥o | ad

T 100(9,435) 1.4 3.1 17.6 7.7 0.1

At =P 100(4,874) 2.0 45 23.0 70.4 0.1
°= o4kt |100(4.561)| 0.7 1.7 11.9 85.6 0.1
258w [100(2,943) 1.6 2.2 13.4 82.7 0.1

ugg Fstw  1100(2,844) 1.4 3.9 22.0 72.5 0.1
58w [100(3,648) 1.2 3.3 17.6 77.8 0.1

ME 100(1,393) 1.5 3.5 18.7 76.1 0.2

HFEX| ZAAl 100(2,432) 1.4 3.4 19.4 75.7 0.2
Al [100(5,610) 1.4 2.9 16.6 79.1 0.0
YEDE74H1100(8,513) 1.4 3.1 17.5 78.0 0.1
ZIETN |SHERIPE | 100(743) 1.5 4.2 18.2 76.0 0.1
2£7P8 | 100(82) 1.2 2.4 20.7 75.6 0.0
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96.9%% ‘134 ehebn stk

~ oJSHIE(93,1%)0] WEHIS(80.4%) Hrk ARl FlE Hal 7k UR ererin S
Ho] Yok, WPHat 25 TEsko] Fahye] uls), AFAERE Alo] ALt
ool Hlal AkS B Sk L] oherka S vlevt fegton], pRmrignt gt
Aol uls) Zd7bgo] A0S 2ol Hw Bt Weha SR ugel o kot

¥t
3.0%

(09 1-62] AY2 oM =T @It Hot
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by 100(9,435) 1.1 2.0 10.4 86.5 0.1
A1 =Xt 100(4,874) 1.7 2.9 14.9 80.4 0.1
= O Kt 100(4,561) 0.3 1.0 5.5 93.1 0.1
258w [100(2,943) 1.3 1.8 8.6 88.3 0.0
mi=d= Fstw  1100(2,844) 1.0 2.5 13.4 83.0 0.1
IS8 |100(3,648) 0.9 1.7 9.4 87.9 0.1
M2 100(1,393) 1.4 2.3 12.3 83.8 0.1
HEX] Z9Al 1100(2,432) 1.0 2.0 11.4 85.4 0.1
A2 |100(5,610) 1.0 1.9 9.4 87.7 0.0
UEDE74H1100(8,513) 1.0 1.9 10.3 86.7 0.1
ZIEFN |SHERIPE | 100(743) 1.5 2.7 10.6 85.1 0.1
Z&748 | 100(82) 1.2 2.4 13.4 82.9 0.0
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1 I|'EO'” I:HOH o—|°H|_ —|0| Ml:l' (37'5%) (61.8%) (0.7%)
N == 9,435 1,839 7515 81
X A} I: = I_ = x__!o QAII: ’ ’ 3
2 0l sl A== =0 so (100.0%) | (19.5%) | (79.7%) | (0.9%)
, 341 9,014 80
AlS e X [e]] ’
3 x|'EE A|E°H|_ —|0| MEl' (36%) (955%) (08%)
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EAROR G5 At 7k Aolh et Ak 4zt

AR Ao it A BlaloflA A7}

WA BadaTh w30 AEERe AR Y] A9 2SR SaksehiolA BdeTt
wneH, A AR FeYo] 2ee Y} s EY w2 B E Bt AR 2

Ao A FAlo 7} ofe Al ERAA] 9ttt 7P 40l T Pge] ot

= 7gol mlsf Ak Agzkak Ak Alg] God o 2 Hul s Bl AR Aol = Aads
At oz Apeke ARt o] QleAlef digh &=l Hisll, @Ak ARk agEEe Sl

o
PREFPPETHE THE 9 27PN B ulgR Uehith, 7} A%

Fardh A 7 Aol I2|3 AT Bk the (& I-T0)00 AlA =] Sl

[N
B
=
o
R
oZ
s
luj

=

H

ZEI-70 SEXY ENo T2 Rjato =Y xjo] M
Seixto] EA A 42 SERto| EM Xte A 2
(MHRAG A=9435) | M A e e i £ E
e (sb) (Sheffé) N=3,540) (sb) (Sheffé)
Lhx} 1.48 LEx} 1.73
e (”:Ojf: 4 (?'gg) ~16.608"*| A (”:Jqffg) (?'gg) —2.401*
(n=4,561) | (0.96) (n=2,071) | (0.87)
ESS3=im] 1.43 ESyeiim] 1.76
(h=2943) | (079) | 0w (h=776) | (085 | ...,
N =sty 1.71 - — =&ty 1.81 -
wE= (n=2.844) (0.92) wE= (n=1,212) (0.85) .
nE=3-igm] 1.72 (ab.ac) =2 173 =)
UsSetul . Useul .
(n=3,648) | (0.93) (n=1,552) | (0.85)
Mg 1.65 Mg 1.74
(n=1,393) | (0.90) (n=556) (0.84)
ZAA| 1.62 ZAA| 1.79
Al 1.62 Al 1.77
(n=5,610) | (0.89) (n=2,080) | (0.86)
%‘—'?'—Eﬂ’é;, (1.60) %‘—‘?‘—Eﬂ’é;, (1.74)
n=8,513 0.88 n=3,127 0.84
Bz |esEsby | 182 | 10889 | 5= feimmoim | 99 | 682077
B e | T e
(h=82) | (0.92) (h=30) | (0.83)
HH M(SD) 1.62(0.89) MH M(SD) 1.77(0.85)
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Z II-70-1 JIEXY EXJ TGE M9 Y=Y HE 2N
MA FAH(N=9,435) CHH| My HAH(M=9,435) LHH| My HAH(M=9,435) LHH|
Aiat Mzt HAH HE XA A8 MAH HIE M A= HAH HE
orc or
sexel sy | udt | et [SEMY| ag | go |SENY| wo | ao
= 3,540 5,829 M| 1,839 7515 M| 341 9,014
SRM(V=9.435) | (375%) | (61.8%) | (N=9.435)| (10.5%) | (79.7%) |(N=9.435)| (3.6%) | (95.5%)
= 1,469 3,360 = 746 4,078 N 97 4727
e |(n=4.874) | (30.2%) | (68.9%) |(n=4.874)| (15.3%) | (83.7%) |(n=4.874)| (2.0%) | (97.0%)
o= Oo{xt 2,071 2.469 o{xt 1,093 3,437 xt 244 4,287
(n=4561) | (45.4%) | (54.1%) |(n=4.561)| (24,0%) | (75.4%) |(n=4.561)| (5.3%) | (94.0%)
E3=3-m] 776 2,145 | =53tn 404 2513 | =5 79 2,838
(n=2.943) | (26.4%) | (72.9%) |(n=2.943) | (13.7%) | (85.4%) |(n=2.943)| (2.7%) | (96.4%)
S ow | B3 1,212 1,609 Sty 667 2,149 St 134 2,683
EE | (n=2.844) | (42.6%) | (56,6%) |(n=2.844) | (235%) | (75.6%) |(n=2.844)| (4.7%). | (94.3%)
TEst | 1552 2075 | 15stn 768 2853 | m5stn 128 3,493
(n=3.648) | (425%) | (56.9%) |(n=3.648) | (21.1%) | (78.2%) |(n=3.648)| (3.5%) (95.8%)
M 556 829 RE 282 1,103 RE 59 1,325
(n=1.393) | (39.9%) | (59.5%) |(n=1.393)| (20.2%) | (79.2%) | (n=1.393) | (4.2%) | (95.1%)
A=z |, B 904 1,509 | A4 484 1922 | A 87 2,320
T (n=2.432) | (37.2%)..]..(62.0%). | (n=2.432) | . (17.8%)..|.(79.0%). | (n=2.432) | . (3.6%)..|. (95.4%)
At 2,080 3,491 At 1,073 4,490 At 195 5,369
(n=5.610) | (37.1%) | (62.2%) |(n=5.610)| (19.1%) | (80.0%) |(n=5.610)| (3.5%) | (95.7%)
FHDIX | 3127 5331 |¥ERIIH| 1584 6.861 |YEDJFH| 205 8,152
(n=8.513) | (36,7%) | (62,6%) |(n=8513)| (18.6%) | (80,6%) |(n=8513)| (3.5%) | (958%)
stz |BREIHY| 338 398 [StEmIPH| T 212 522 |StEmIbE| T 36 697
=Py (n=743). | (45.5%) | (53.6%) ) (n=743) | (28.5%) | (70.3%). | (n=743) |  (4.9%) (93.8%)
271 30 49 &MY 18 61 AT 5 74
(n=82) | (36.6%) | (59.8%) | (n=82) | (22.0%) | (74.4%) | (n=82) | (6.1%) | (90.2%)
A W2 HAE(N=3,540) CHH] Kb Mzh AAE(A=3,540) CHH|
XAt A& HAH HIE A AE MAH Hg
SHXte EN QLCtH ALt 23E SExte EY UL} ALt 23E
= 1,839 1,686 15 341 3,185 14
SR(V=3540) | (550%) | (47.6%) | (0.4%) | SHNE3540) | (gew) | (90.0%) | (0.4%)
my! 746 718 5 =5 97 1,367 5
e (n=1.469) | (50.8%).|..(48.9%).|..(0.3%) e [(0=1.469) | (6.6%).| (90,0%). | (0.3%)
o= O{xt 1,093 268 10 o= O{xt 244 1,818 9
(n=2.071) | (52.8%) | (46,7%) | (0.5%) (n=2.071)| (11.8%) | (87.8%) | (0.4%)
x5stw | 404 368 4 E3=%-im] 79 693 4
(n=776) | (52,1%) | (47.4%) | (0.5%) (n=776) | (10,2%) | (89.3%) | (0.5%)
Sow | B8t 667 540 5 Sow | B8 134 1,074 4
CEE 1 (n=1,212)] (55,0%) | (446%) | (04%) | *"B= [(n=1212)| (11,1%) | (88,6%) | (0.3%)
TI5siu | 768 778 6 k=t 128 1,418 6
(n=1.552) | (49.5%) | (50.1%) | (0.4%) (n=1552)| (82%) | (91.4%) | (0.4%)
M2 282 274 0 Mg 59 496 1
(n=556) | (50.7%). | (49.3%) | (0.0%) (n=556) | (10.6%). | (89.2%) | (0.2%)
A=z | 29N 484 413 7 azx | 29N 87 811 6
T (n=904) | (53.5%). | (45.7%) | (0.8%) T (n=904) | (9.6%) | (89.7%) | (0.7%)
At 1,073 999 8 Al 195 1,878 7
(n=2.080)| (51.6%) | (48.0%) | (0.4%) (n=2.080)| (9.4%) | (90.3%) | (0.3%)
FE LN 1584 1,530 13 FEOJIA| 205 2,821 11
(n=3.127) | (50.7%) | (48.9%) | (0.4%) (n=3.127) | (9.4%) | (90,2%) | (0.4%)
JtE (BRI 212 124 2 stz [REIE] 36 299 3
24 | (n=338) | (62.7%) | (36.7%) | (0.6%) 24 | (n=338) | (10.7%) | (88.5%) | (0.9%)
RATIA 18 12 0 RATIH 5 25 0
(n=30) | (60.0%) | (40.0%) | (0.0%) (n=30) | (16.7%) | (83.3%) | (0.0%)
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(- A4 — 2 17 A A7 A

A2 14z xpabofl il s 2 Z&oll cisiA
HH SEHX = 61.8%7t ULt 37.5%7 Ut S

0 212 ol Wl Sk Ak ol AlZke) 2 Ho] Ql=Rlo] oje) AEF A, 2AF Yadel
37,507} 78 & A% Az B 2o] Q¥ SEon, ‘Grf R uet vlg-S 61.9%00t,
— ofBh5, 4%)0] FEHY(E0,199)REE T A AR Ho] gl Aow b}%@a, EX L
of HJal) F-E It AN, AFREIA(36, 793 24714(36.6%)0] M8 FEEAA(55%)

o A Aol dha) Azke Mol elrk Hlgo] okt

mw = M

H

(09 1-64] A Idt Xt ool 249 2 8¢

EI-71 33 192 XA o 94 2 3y

SHA £ MAH(RIE) | XHF ACk | 7H8 Aot | A9 Yot | M eict | REH
M| 100(9,435) 3.7 16.9 16.9 61.8 0.7
A =t 100(4,874) 2.6 11.8 15.8 68.9 0.9
= O Xt 100(4,561) 49 22.4 18.1 54.1 0.5
258w [100(2,943) 2.3 11.6 12.5 72.9 0.7
mi=g-—| & 1100(2,844) 4.3 18.8 19.5 56.6 0.8
58w [100(3,648) 4.4 19.8 18.4 56.9 0.6
M2 100(1,393) 3.6 17.9 18.4 59.5 0.6
HZEX| ZAA [100(2,432) 3.8 16.6 16.8 62.0 0.8
A2 |100(5,610) 3.7 16.8 16.6 62.2 0.7
Y227 1100(8,513) 3.3 16.6 16.8 62.6 0.6
ZIEFN |SHERIPE | 100(743) 7.1 21.3 17.1 53.6 0.9
&I | 100(82) 6.1 11.0 19.5 59.8 3.7
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4)-@ A — FT 1Azt 24 A9 A9

AZ 1z KA AE Aol A
R Mzt A8ixt & 47.6%7F ‘QUCt, 52.0%7F ‘U SH

O A AZtE o & Zo] Sl SHAE LR 2 4 9 S ALE AL B0l

AR o] 52.0%7F THE 38 A A7)
Qokal gEem, kI SHT Hle2 47.6%0

— ofEPY(52.8%)0] HEMY(50.8%) et o AT ARl FHo| Q= AR Epten, 25153}

Agol| wlaf FBPPOIAN, GBI (50, 7%)0] B8] TEEIH(62,7%) D 2E7HH(60.0%)°]

A A ARS AR Aol Sltke SHEEC] w3

s
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%
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Mo
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o

(1% 1-65] 32 192 T4 A8 3Y

EI-72 #3192 G4 AY 33

SEX £4 MA(dE) | AF At | 7S ACH | A §lnt | HS §lct | RSE
B 100(3,540)| 2.8 18.9 30.3 47.6 0.4

st EAt [100(1,469)| 29 15.8 32,1 48.9 03
°= ot [100(2,071)| 2.7 21.1 29.0 46.7 0.5
Z58tm | 100(776) 3.1 17.7 313 47.4 05

wgg | &St | 100(904) 2.4 21.2 31.4 44,6 0.4
DSsti |100(1,652)| 3.0 17.7 28.9 50.1 0.4

Mg | 100(556) 25 18.2 30.0 493 0.0

AZEX | Al | 100(904) 2.9 18.8 31.9 45.7 08
A2 ]100(2,080)| 2.8 19.1 29.7 48.0 0.4
UE2I1Y1100(3,127)| 2.6 18,1 30,0 48,9 0.4
JHETY [etR27HY] 100(338) 5.0 26.0 31.7 36.7 0.6
Z&708 | 100(30) 33 16.7 40.0 40.0 0.0
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(4)—-@ A — FZ 197 2 A= 7

A 1z Xty A= ZEofl tiaiM
A M2z AR F 90.0%7t Uk, 9.6%7t ULk’ SH

O 2 AZEE off 2 Ado] gl SHAE ddoR AT U | F9F A4S Al=S Aol
=Alol sl AEet Ant, ZARA HA2E 9.6%7F Aok L e qlrk L 33
H]-8-8 90,0%%th,

— of8PAY(11.8%)0] FEHE(6.6%) et A A7t B Gl Ao vepton 11558, 2%)0]

H|3)) 2538(10.2%) 538 (11.1%) o AIA, FFH715(9.4%) B FHEE7F(10,7%)°l Bl
2E7P8(16, 1) A AHe Al o] w8 ACE UeT,

-

mw = M

H

ct
9.6%

(27 1I-66] 32 187 X4 A& 3

ot

SHX £ HH (=) AL BT FSHE
e 100(3,540) 9.6 90.0 0.4
e Jxt 100(1,469) 6.6 93.1 0.3
o2 ofxt 100(2,071) 118 87.8 0.4
531 100(776) 10.2 89.3 05
3 e 100(904) 1.1 88.6 0.3
osst@ | 100(1.552) 8.2 91.4 0.4
e 100(556) 10.6 89.2 0.2
ESN ZoiA 100(904) 9.6 89.7 07
Al 100(2,080) 9.4 90.3 0.3
*=EItE | 100(3,127) 9.4 90.2 0.4
HE7Y | sEwstd | 100(338) 10.7 88.5 0.9
EA7HY 100(30) 16.7 83.3 0.0
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(5) 2Ed~ - g2 B 2 FFEA

AZHMAE, 9MEN S)M=2.71)7} 7IE =%
|2(M=2.22)’ 59| £22 LIE|omn,
71(M 1.33)7} 71& WS

AEZ A0 fE Y= %EWIHE 3—.

=
o IND X

HH A EH A

(0T 1I-67] AEH ALY F=E B¢

EII-74 AEYALY ¥ZE BJy Y EFHA
- =
=8 g7 rIL_=|;|.
1 SoEnto| 2 2.1 0.97
2 | YH-xtojere] 2 1.98 0.99
3 E(7|, =0, UM S) 2.22 1.00
4 | MHHZ 1.71 0.89
5 | dalrZ 1.71 0.92
6 JHEYH(EME 2H) 1.65 0.88
7 et HARIRES, 28 §) 1.71 0.89
8 o[4ztol 2 1.47 0.79
9 | MZHi A 1.33 0.67
10 | Mddatol 7 1.52 0.84
1| Z2EM(H £= o) 2.35 1.16
12 | SAZHMAE, 482H S 2.71 1.1
AEY A A (TAH) 1.87 0.58
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pe gjo] 4

gl

FadEd A W) 2EHA Azjade] tigt 127 sk 8.9
H, agd, AFAE Pl 7EAE A EAK R fofRt

Aot AE HadM e e AEHA Gl oAt HREG Fataerh wken, A%
ol

o BAE Alelet 1171 goofA 1 x}0]7} 20544 ekt

£ II-75 LU EXo) ME AEYAO Y=Y ko] BN
o 2 SRR A oz M| 42 MalHz ISk
SEXe EM M | tF| M | tF| M |tF| M |tF| M | tF| M |t F
(SD) |(Shefté)| (SD) |(Sheffé)| (SD) |(Sheffé)| (SD) [(Sheffe)| (SD) |(Sheffe)| (SD) |(Sheffé)
Sz} 2.06 1.91 2.00 162 154 157
st (n=4,874) | (0.97) | —4892 | (0.99) |—7.201] (0.97) |20 767| (0.86) |~10275| (0.82) | 18331 (0.84) | 8449
(n=4,561) | (0.97) (0.99) (0.98) (0.90) (0.98) (0.91)
x58tm | 183 2.04 1.80 146 136 133
(n=2,943) | (095) |, oo (1.06) o (0.98) |00 30| ©.79) |ogs045| ©.73) | sog483] 069 | 434004
Doy | B[ 219 | %1206 |Tpy | 226 | | 169 | | 170 | M| 159 | e
WHEE| (1=2844) | (0.94) | (abac, | (0.99) (acho) (0.98) |(ab,ac, | (0.86) |(abac, | (0.88) |(ab,ac, | (0.82) |(ab,ac,
ossm | 206 | ) | 1es | | 254 | %9 | 195 | B9 | oo | 0O | qgg | PO
(n=3,648) | (0.96) (0.92) (0.93) (0.92) (0.98) (0.96)
N2 2.14 1.08 220 170 170 163
(n=1,393) | (0.98) (1.01) (1.01) (0.91) (0.92) (0.89)
3.333
HAHA 2.09 1.96 2.22 172 1.71 169 |~
= : : : *
HFX (m2u32) | 0.97) | % | 0.98) | %% | (0.99) | 230 | (087) | %127 | (0.00) | %11 | (0.89) ”
A2 | 211 1.08 223 171 171 163
(n=5,610) | (0.97) (0.99) (1.00) (0.89) (0.93) (0.87)
or=oybE | 209 1.08 2.20 169 169 1.60
(n=8,513) | (0.97) (0.99) (1.00) (0.87) (0.91) (0.84)
JHE | sHEINY | 2.26 10087 | 1.97 o7t | 247 12,;3*86 194 13,;:15’2 197 15,;3*80 2.23 99;,9,?8
M = HoHk .
A | (n=743) | (1.00) (1.00) (1.02) (o) (0.98) (o) (1.00) (o) (1.06) (ahti)
0 | 214 222 180 173 169
(n=82) (1.06) (0.99) (0.90) (0.90) (0.89)
M| M(SD) 2.11(0.97) 1.98(0.99) | 2.22(1.00) 1.71(0.89) 1.71(0.92) 1.65(0.88)
*0{.05, **{.01, *** {001

T emAES, b=8%u, =153, d=M3, e=H%N|, =AIT, g=UR2IHY, h=RtRRIHY, FRETHY
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A | olgEA | MIeiEA | MMEHEA | IEEM | SIYUEH HA

SEAe EY M| tF| M |tF| M |tF| M |tF| M |tF| M |tF| M |tF
(SD) | (Shefte) | (SD) | (Srefté) | (SD) | (Srefte) | (SD) | (Sneffé) | (SD) | (Srete) | (SD) | (Sheffe) | (SD) | (Seffe)

=X | 1.60 1.46 1.33 150 2.23 256 178
" (n=4,874) | (0.83) |_iper| (0.78) | 55| (068) o 084 | e | 119 | oum| 113 | a7 | ©56) | iegm
CEL ox 183 | 149 | F l1sa| o 1sal| T |oar | o7 | 97|

(n=4561) | (0.93) (0.80) (0.66) (0.83) (1.16) (1.06) (0.59)

A58t | 157 127 1.33 1.38 1.46 2.03 157
(n=2,943) | (0.86) (0.64) o (0.71) (0.78) —_— (0.83) 2154, (1.07) 1032. (0.55) 741,
jmi=! st 1,75 |54.461| 1.48 | s | 1.38 [10871| 155 | 4xx | 2.41 | 778 | 2.89 | 445 | 191 | 797
w | (0=2,844) | (0.90)| ™ (079 |, 50| Q71| ™ (084 |, 50| (108)] ™7 (102 | (0s4)| ™7
= (ab,ac) ’ (ab,bc) ’ (ab,ac (ab,ac (ab,ac
D@ | 1.79 164 | 29 | 130 161 | 09 1302 | bo) | 343 | bo) | 208 | bo)

(n=3,648) | (0.88) (0.87) (0.61) (0.87) (0.95) (0.93) (053)

N2 1.70 1.53 1.31 1.52 2.31 2.73 1.87

(n=1,393) | (0.89) (0.86) (0.65) (0.85) (1.15) (1.12) (0.58)

sz | BAM ] 169 1.49 68711133 1.50 2.40 | 5475|270 1.87

*% .

x| (n=2,432) | (0.88) | 0.799 | (0.79) (0.66) | 1.317 | (0.81) |0.999 | (1.15) | "« | (1.09)|0.291 | (057) | 0.025

Al 172 1.45 1.34 1.53 2.33 2.71 1.87
(n=5,610) | (0.89) (0.78) (0.68) (0.84) (1.16) (1.11) (0.58)
%I | 1.69 1.46 1.33 1.51 2.32 2.70 1.85
(n=8,513) | (0.88) (0.78) (0.67) (0.83) (1.15) (1.11) (057)

- 17.067 5.990
iz | SR2HY | 186 |6.448) 161 [6512] 1.42 3815 1.58 2.68 | wex | 287 | e | 207 | psp
?; (n=743) |(095)| ™ |(088)| ™ [(072)| ™ |[(0.84)1.581](1.15) h, | 108)] (gn [©059) | s
© (gh) (gh) (gh) hi)‘ hi)‘

N P‘* 1.82 1.47 1.41 1.63 2.11 2.37 ~

(n=82) |(1.03) (0.82) 0.79) (0.86) (1.13) (1.12)

M M(SD) 1.71(0.89) | 1.47(0.79) | 1.33(0.67) | 1.52(0.84) | 2.35(1.16) | 2.71(1.11) | 1.87(0.58)
*0.05, {01, 001

% A5, =50, =15, (=N, RO, AR, (FURRINY n=RROObY, XA

A, olEkl, AREA AEQAS Aos Aed BRAolrt
oSl e itk PERRE B FAANBAR QT AEHAE ASF w
539 AE20IA QREAGO] FRuI B U %S FRASE Nl B
2 fols Selsslch 2 Al 88 R WY 2 Ao| Ien ARdE AU

G =75 AAl=lef STt

(. do 32 ofy

12
o
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(5)-D 2EHA — Hryato]

M =

IS

HH SEX

AEYA BE & ‘wodmel B0 HatA
Z 35.4%7} ‘AEPAE =}’ SEf

0 ‘Rte] )N AR AE

2vo] Yhald, AA SHA F 85.4%7} Wy e

SR 62.3%7F WA Ferheka ggekit
— A ZF vaofA giAR FeE(33.4%) Bt ATAIE(37.4%)0] Frdate] WA
A AEFAE ¢ Wol HEd= ﬁoi UeRgal, agddz2E 1584(41.8%), S
(38.1%), Z=sA4(24. 7%) o7 Buolol BAR olgt AEHAE ¢ ZHFsl= oz
UeRton,  SHRRTFY(41.5%)0] FHEIHA(35.5%)9 HAUEHETH FRgA ot
AEYAE ¢ HYsk= Aoz UrEP T},
(0T [1-68) AXj L= AEYA HT - S0dno] 17
g 1I-76 I L7 AEYA FE - 22HI T
] S oo INEEREEES -
soxiel E4 | HA(ME) ";E‘q' x3 wert E%,Eq' g::rl B
M 100(9,435) 8.1 27.2 29.2 33.0 2.4
i gxt |100(4,.874) 7.6 258 29.1 35.2 2.3
°= o{xt | 100(4,561) 8.7 28.7 29.4 30.8 2.4
z=8tn [100(2,943) 6.3 18.4 25.8 473 2.2
o328 | &8t |100(2,844) 8.0 30.1 32.1 275 2.3
S8t [100(3,648) 9.7 32.1 29.8 25.9 2.5
M2 [100(1.393) 9.6 26.8 30.0 32.1 15
A=K | ZAAl [100(2.432) 75 275 28.3 33.6 3.1
A2 |100(5,610) 8.0 27.2 295 33.1 2.2
AL I™ [ 100(8,513) 8.0 276 298 342 0.4
HETA |t EItE]| 100(743) 118 29.6 295 27.6 15
Z&748 | 100(82) 0.0 0.0 0.0 0.0 100.0
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(5)-@ 2E#HA - FAAeke] A

= AEYA Mz Z EAXOfpe Ao chal A
30.4%7} ‘Hh=Cl, 68.7%7F WX Ye=Chn S5

A Ll
X SEx 3

O ‘GAA ko] A A Bk AEH A tisfAl, HA SHAL F 30.4%7} W=ttt
SHEBHHAL ] ok ekl 2 68.7%%T}.

— g 7 v|aoA FERYE27.8%) Bk oS E(33.3%)0] FAAuLke] IA oA A

: 3}{— Ao Yy, ngHEs 255MY(34.5%)53HY(33.2%)-
2 FAAete] AR Qe AEHAE ¢ HHshe AoZ YE

SHY vl

EYAE © Bel 3

53HY(25.0%) <=

gov] GRmrlga rmbgel ve) 247bge] Jadse] 5Y AEdAS T 4
Hoke Aom uehieh

(J" 1I-69] ®1f o= AEYA FE

- BH-Iof Y A

LR BRI

o ot HZ Hb x| dHE
sene sy | mAe) | "0 B (xg weg) B2 EX B O agg
M| 100(9,435) 8.5 21.9 27.4 4.3 0.9
o St [100(4.874) 8.0 19.7 26.2 452 0.8
°= oixt | 100(4,561) 9.1 24.2 28.7 37.1 0.9
ZE8tW {100(2,943)| 115 23.0 23.1 419 0.6
22¥ | =stm [100(2.844) 9.4 23.9 295 36.6 0.7
1S5t | 100(3,648) 5.5 19.5 29.3 44.4 1.3
M2 |100(1.393) 9.6 211 27.0 421 0.2
AZ=x | ZeAl [100(2,432) 8.0 21.9 27.5 419 0.8
A2 [100(5,610) 8.5 22.1 275 40.8 1.1
a=o71x[100(8,513) 85 218 27.7 412 0.8
JHERA |t @IbA | 100(743) 8.2 23.1 24,5 421 2.0
2718 | 100(82) 122 25.6 24.4 36.6 1.2
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(6)-©@ 2E#HA - u], =i, AN 5)

Bid Lyl= AEYA Fz & ‘AL(7], F0i, YLM S)oll tisiA
HH SEX & 41.0%7t 'AERAE H=rt'1 S

0\

O "9JxL wjizoll Hashe i\EEﬂé’Oﬂ tieiAl, AAl SHAL F 41.0%7F etk e SEekiar
WA el Sl SHE HlEE 58 4%t

— 4 vaoA FeE(31 3%)E‘3}~ AYE(1.5%)°] YE=E QT AEHAS H
@ol Adshs Zor Uehlal, agdRs 253M(23.9%)014 F3H(41.4%), s
MY (54.6%) 0= ool ZEHASE QER QIR AEHAE ¢ gol ¥ Ao U
e

w 2= M

H

(09 11-70) X L= AEX FE - 9T

)

EI-78 81 L= AEYA FE - o

la

S or Ha b = HF
senel 8y | mnws) | 7 Y (a3 weg) 2R TH | T BN asg

M| 100(9,435) 11.2 29.9 28.3 30.1 0.6
A =P 100(4,874) 7.8 23.5 29.2 39.0 0.5
°= Of Xt 100(4,561) 14.8 36.7 27.3 20.6 0.7
A538W [100(2,943) 6.8 17.1 24.9 50.9 0.3
mi=g=: FstW  1100(2,844) 1.1 30.3 31.4 26.6 0.6
U55tw 1100(3,648) 14.7 39.9 28.6 16.0 0.8
M2 100(1,393) 1.4 28.5 28.8 31.1 0.2
HFEX] Z9A 1100(2,432) 10.8 30.2 28.6 29.7 0.7
Al 100(5,610) 11.3 30.1 28.0 30.0 0.6
LERIY1100(8,513) 10.7 29.5 28.4 30.9 0.5
ZIEFN (SEEIPE | 100(743) 16.8 34.1 25,7 21.9 1.5
U 100(82) 11.0 28.0 31.7 28.0 1.2
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(6)-@ AEHL — A%

S Luls AEHA Hz & MAAZ Ol thsiA
Xt & 20.3%7} ‘BH=Ct, 79.1%7) UX| g=cheEtn 2

o
2
é
nY
o
é"%
=
ol
jud)
P,_li
o
>.
m
é
>.
=
=
2
X
=
é
2
2
oiN
DO
&)
g
X
11‘,
Az
I
:
R
olo
;s
1-4

N
S
B

A
S8, TR OR SARE AAALOR G AEAAS © Wol Wi glov] M
Buslgnn SRmbol} 2ol AMAGOR Qe AEdAS o Bol 4Y

she Ao Uehgeh

my

ic|

(DF I-71] 97 Lole AEYA FE - UHAY

T I1-79 I L= AEYA HE - MHAY

rr

o o =
sene sy | mAe) | "0 B (xg weg) B2 EX B O agg
M| 100(9,435) 4.2 16.1 26.0 53.0 0.6
A =P 100(4,874) 3.9 13.2 23.8 58.6 0.6
©= O X} 100(4,561) 4.5 19.3 28.4 471 0.7
A58 100(2,943) 3.5 8.3 18.2 69.7 0.3
mi=g=: =5t 1100(2,844) 3.7 14,7 27.5 53.5 0.6
U5stw 1100(3,648) 5.2 23.5 31.2 39.3 0.8
M2 100(1,393) 4.9 15.9 23.5 55.4 0.2
HEX| Z9A 1100(2,432) 3.8 16.3 27.1 52.0 0.8
Al 100(5,610) 4.2 16.1 26.1 52.9 0.6
A2 IHM1100(8,513) 3.9 15,5 26.0 54.0 0.5
ZIEFN (SIEEIPE | 100(743) 74 21.9 26.4 42.8 1.5
&7 | 100(82) 3.7 20.7 26.8 47.6 1.2
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w 2= M

H

)

4

(5)-6G 2EHA - 47

SN Lyl AEA Fz F ‘MaAZ ol tisiA
MA| SHA 5 20.7%7t ‘g=Ct, 78.8%7F K| f=rteEtn S
O ‘Aleja7d el HEsks AEH A dhaljxl, A -§HAF 5 20, 7%} Whert ekl -SEseigl
W) o= ek St lg% 78.8%%tt.

LEHAE ¢ W] Fdshe A

wgERs

i%—i“éﬂ (9.3%)

2 oIt

S(14.4%)Htks ASAYE(27.4%)0] AR QIF &

o2 YERH,
£og ggo| ebdeE AlgAt J;
PTE7W(30 1%)°] FF-12717(19.9%) 01t 5@7}@(
o= g,

ek

&4

(07 1-72] ¥4 L7l= AEJA HE - YA
E1-80 ¥X iz AEHA FE - YUY
o ot HZ Hb x| HE

sene sy | mAe) | "0 B (xg weg) B2 EX B O agg
HH| 100(9.435)| 5.5 15.2 23.7 55.0 0.5

e dx [100(4,874)] 35 10.9 21.8 633 0.5
°° Cixt  [100(4.561)| 7.7 19.8 25.8 46.2 0.6
258t [100(2,943)| 30 6.3 14,5 75.9 0.2

n3Y | E8m [100(2,844)| 46 14,5 26.8 535 0.6
0S8ty |100(3648)| 83 22.8 28.8 39.4 0.7

Mg  [100(1,393)| 55 14.9 24,0 55.5 0.1

AZK | A [100(2,432)| 50 14.7 25.6 54.0 0.7
A2 |100(5,610)| 58 15.4 22.9 55.4 0.6
Y2271511008,513)| 53 14.6 235 56.2 0.4

NETY |BERbE] 100743) | 87 21.4 26.0 42.4 1.5
Z&71% | 100(82) 4.9 14.6 280 51.2 1.2
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(6)-0 2E#A - 7HHFAEAA 2A4)

#xl Lile AEYA M 5 JHEEHZEME 2H) ol A
MA SYX 5 18.0%7F Ll 81.4%7F X YeChatn 84

R

O 7R el Beshe A=A tejA, AA SHA F 18,007} et il SHBIS
81.4%7F A =thekal SHskch

— o] g HaolN FeEE(15.3%) ks 48E(20.9%)0] 7HEHOR QIR &
EFAE ¢ gol Fdshs AoR Uehal, agERe 259A8.2%) 14 F(15.0%)
ISEAY(28.2%) 0.2 ShRo] e E TP UCR QIR AEHAE ¢ @ol ¥ 9 At
o, SRRVl FFEIPYeI &Vl Bl & 2EHAE H gol FHske

o= et

P

o)
my

ic|

E0-81 ¥X L7t AEYA YT - HHYUH
o ot Bz x5 HE

seme 5y | mas) | 0B sz weg) BRE | ERL S ooy
e 10009.435) | 46 13.4 23.7 57.7 0.6
A Jx [100(4.874)| 40 113 223 61.8 0.6
°= OIXt  [100(4,561)| 5.2 15.7 25.1 53.3 0.7
ZS3m [1002,943)| 2.3 59 14,5 76.8 0.4
m3¥ | z3m [1002844)| 33 116 25.3 59.1 0.6
st |1003,648)| 7.3 20.9 29.8 41.2 0.8
N2 |100(1,393)| 48 13.6 21.0 60.2 0.4
HEX| ZAA [100(2,432) 48 141 25.5 54.8 0.8
Al 100(5,610) 4.4 13.1 23.5 58.4 0.6
of=mr8[1008,513)| 3.7 12.2 23.6 60.0 0.6
JIEZA |SIE2 ™| 100(743) 13.6 27.7 24.4 32.7 1.6
z2708 | 100(82) 4.9 13.4 26.8 53.7 .2
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(6)-@ 2EH 2 - et AR ZS, =4 5

ol

S Lile AEYA FHz F Tpeto EHARITLS, 5%1 S)oll sl
A SHA & 19.0%7 ‘H=rt, 80.4%7t HX| Y=rCtEtn S

o ‘Apete] A o] Al
SYAT 80,4%7 WA gk=rf el

— 4ol whE HlaelA HeE(14.6%) 5 3.71%)°] 27 VAR AEH A

z £ o ol At A0 Uiy, Rg¥st 253MY(15.3%)004 F3H(19.8%),
- WEIY(21.20) 0% LTSS F AEHAS o Wol AP itk ST
4 L SHREIIE (25 T%)0] FREAY(18,3%)01 2&71H(22.0%) Kt AT BAR 9l
it
o We AEHAE HEsh= Ao=Z YERT
(1T 1-74) WX LI|= AEYA - X179t @y
EI1-82 X L7k AEYPXA FE - Ao 7Y
o z 03 I:%I-O [ g2 I:llzl‘x |I_ Hl‘x oo
sontel 5y | mns) | M B |23 weg E%,Eq' g::rl sex
M| 100(9,435) 49 141 27.6 52.8 0.6
A1 =P 100(4,874) 3.9 10.7 26.2 58.7 0.6
°= o{xt  [100(4,561) 5.9 17.7 29.2 465 0.7
Z5stm [100(2,943) 48 10.5 215 62.8 0.4
A== st 100(2,844) 56 14.2 28.7 50.7 0.8
n5stm [100(3,648) 4.4 16.8 317 46.3 0.7
N 100(1,393) 5.2 13.6 27.4 53.6 0.2
HZEX| RPN 100(2,432) 46 134 27.8 53.4 0.7
A= 100(5,610) 49 145 27.6 52.3 0.7
=714 1100(8,513) 47 13.7 27.7 53.4 0.6
JIEZA |SIE2 ™| 100(743) 6.2 19.5 27.1 458 1.5
U 100(82) 11.0 11.0 25.6 51.2 1.2
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(5)-® AEHA - oo} oA

S e AEYA HE 3
A SEX

‘olMdatol A ’ofl chalAM
3 12.3%7} ‘dh=C}’, 87.1%7} ‘BtX| ot=rCtetn S

Sh= AEH A HlallAl, A SRl 12,3%7) e} ek
7.1%7} A ok=thekal SHeHIc)

MIE(18.1%)0] o] JBAIZ sl 2E
2554Y(6.8%) 0l A =3+
2E SHEmTPgo] ofRm

o “olxjate] T Wl A3
SRS S el 8
— o] mE ol PEBE(11.6%) KR o

E[Ea=

(0T 11-75) AX) Li= AEYA YT -

oPgatel T

= = =

E 183 #7 L7t AEYA B - o4 B
S or TN e

sene 54 | | M5B xg geg) ER SN TAER ] ogg
M| 100(9,435) 3.3 9.0 19.1 68.0 0.6

At =P 100(4,874) 3.3 8.3 18.7 69.1 0.5
°= GRS 100(4,561) 3.3 9.8 19.5 66.9 0.6
A538W [100(2,943) 1.9 49 11.1 81.8 0.3

ugg &stw  1100(2,844) 3.3 8.6 20.2 67.3 0.6
TE538W |100(3,648) 4.4 12.7 24.6 57.5 0.7

M2 100(1,393) 4.7 10.0 18.7 66.4 0.1

AFX | EHAl 1100(2,432)| 32 8.9 21.7 65.5 0.7
Al 100(5,610) 3.0 8.8 18.1 69.5 0.6
AERIY1100(8,513) 3.1 8.9 18.8 68.8 0.5

JIERN (SHRE2IFE| 100(743) 5.1 11.3 22.3 59.8 1.5
A&7H | 100(82) 4.9 6.1 19.5 68.3 1.2
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(6)-© AE#E — A-Su) B4

BE Lale ASHA = 5 WS BAOl N
Q! 91.9%7 ‘M| Y=rtatn S

tzoll AYshs AEHXN ) s, AA SHA F 7.5%7F W=tk e
okl 91.9%7F A =tk kil ek,

Blaof A 5w BAR QIRE AEFHA e F3E A7 glglen, i

P

=

my

=

-_

AZTAOINE e Hol7 et alsiet,

g
E11-84 Hf L7E AEYA FT - H-3H) 1)
e B 2= wx | Tl &

gene gy | mre) | "0 B 15z weg) BREH | EREH T oge
M| 100(9,435) 2.0 5.5 16.2 75.7 0.6
i =N 100(4,874) 2.3 53 15.3 76.5 0.6
°= O Xt 100(4,561) 1.6 5.7 17.3 74.8 0.7
AS538W [100(2,943) 2.6 6.1 12.8 78.0 0.5
mi=g=: =stw 1100(2,844) 2.4 6.2 18.2 72.6 0.6
15stw |100(3,648) 1.2 4.4 17.5 76.1 0.8
IS 100(1,393) 1.6 5.7 15.0 77.5 0.2
HEX| ZA 1100(2,432) 1.8 5.1 16.6 75.7 0.8
Al 100(5,610) 2.2 5.6 16.4 75.2 0.7
UERIHY1100(8,513) 2.0 5.3 15.8 76.4 0.6
ZHETY |SEEIE | 100(743) 1.7 7.9 19.7 69.0 1.6
&8 | 100(82) 3.7 7.3 14.6 73.2 1.2
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(5)-0 AE#A - Ao A

ek

M Lrle AEHA FE 5 “HYHTO #A0l oisiA
STt 86.1%7t WX Y=rtatn SE

O Ao A whzo] FRshe AEFN O disiA, AA SHA 5 13.3%7F W=t
SHEIAAL, SHAY 86.1%7F WA =t Etal S ekl

— o] uhE HlaelA JeE(12.8%) ke osHE(13.9%)0] AdAEIe] HAE
& AEHAE A Wol BHste ACR UEhR, wgEEs 255HAY(10.1%)0A4

o
FA(13.5%), DEM(15.84) 02 s1go] Seha4s § A=dAE o wo| FFsl

I 1I-85 Axj L7

rr

AEYA BT - HUEBY B

= - e 20| MEEEBECEL e
sEstel 88 | mAEWE) | 4 5 |23 wen) O 00 | T0 | =sH
HA| 100(9,435) 45 8.9 20.5 65.5 0.6

A =t 100(4,874) 5.1 7.7 18.8 67.8 0.6
°= o &t 100(4,561) 3.8 10.1 22.4 63.1 0.6
58w [100(2,943) 41 6.0 13.6 75.9 0.4

w4 &t [100(2,844) 45 9.0 22,7 63.0 0.7
58w [100(3,648) 48 11.0 24.4 59.1 0.7

M2 100(1,393) 49 8.5 20.2 66.2 0.3

HEX| Z9Al 1100(2,432) 4.2 7.7 21.4 65.9 0.7
A2 [100(5,610) 45 9.4 20.2 65.2 0.6
UEDE74H1100(8,513) 45 8.7 20.1 66.1 0.5
ZHERY [SHERIFE| 100(743) 3.9 11.2 23.0 60.4 1.5
Z&748 | 100(82) 6.1 6.1 31.7 54.9 1.2
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— Ao WE HluoA o

(6)-@ 2EHA - AZEAEY Ee= vlH)

S Ll AEYA M F FUZEA(Z2H E= 0lzh) ol tHaiA
A 8L & 51.4%7 WX| Y=rt, 48.0%7t ‘W=zt S

0 ‘AREA WRo] Adsle AEF A ts] AA| 2R} 2 48,007} Wr=rk el Lo,
51,4%7} WA o= EPE}E SE33AT.
ME(43.3%) Hihe AASAYE(53.0%)0] AZEAZ Q&) AE

d28 o wWol ddshe ﬁii LERRaL, g EE AssH(75.0%), $8H8(49.5%).
2512902 5 AEALE O @Wol Aysta dglen, Vs ddee g7

=:]
27HE(46.9%)01u 2E7H4(39.0%)0] Hlel THEE7FH(61.0%) HaEE9] Af A2

Al 2EHIA7E E =3,

(O3 11-78] #xj

Ha
>

EU-86 W4 Lix AEYL HE - N2EH
o o =

senel gy | mnws) | N7 Y (a3 weg) 22 CH | T BN agg
T 100(9,435) 20.8 27.2 16.9 34.5 0.7

b =P 100(4,874) 17.8 255 174 38.7 0.7
°= Of X} 100(4,561) 24.0 28.9 16.3 30.0 0.7
A538W [100(2,943) 4.6 8.3 14.9 71.6 0.6

ugd Fstw  1100(2,844) 18.5 31.0 22.0 27.7 0.7
155tw |1100(3,648) 35.6 39.4 14.5 9.8 0.7

M2 100(1,393) 19.7 27.2 17.4 35.6 0.1

HEX| Z9A 1100(2,432) 21.5 28.7 16.6 32.4 0.8
Al 100(5,610) 20.8 26.5 16.9 35.1 0.7

Y227 1100(8,513) 20.0 26.9 17.2 35.3 0.6

JHEFN (SEEIPE | 100(743) 29.7 31.2 13.3 24,2 1.5
&N 100(82) 14.6 24.4 17.1 42.7 1.2
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&MY 100(82) 19.5 28.0 20.7 30.5 1.2
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5 | Yol 20|l 27s #W2 ol Ut 1.11 0.46
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7 | 7t&E & Ho| Ut 1.10 0.43
8 | ClEY HOIMOIEE 2 Ho| Ut 1.53 1.04
9 | ELY| =g s Mo Ut 1.24 0.73
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HIE A (M| 1.27 0.68
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g4 g5 HE zy Z3
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(SD) |(Sheffé)| (SD) |(Sheffté)| (SD) |(Shefté)| (SD) |(Sheft¢)| (SD) |(Shefté)
kXt 1.49 172 29 1.31 1.15
e | (N=4,874) | (1.05) |17.925| (1.08) |12.427 | (0.67) |10.158| (0.72) |18.186| (0.54) | 8.978
(n=4,561)| (.65) (.86) (.53) (0.38) (0.35)
X5stm | 1.04 1.28 1.14 1.21 1.05
(n=2,943) | (0.31) |313.907| (0.64) |516.080| (0.52) |48.295| (0.59) 4944 (0.34) 136.923
Do B | 133 | M| 145 | M 1129 | M 123 | TSN 116 |
L= =
(n=2,844) | (0.86) |(ab,ac, | (0.84) |(ab,ac, | (0.65) |(ab,ac, | (0.65) (bc) (0.50) |(ab,ac,
n5&w | 158 | bc) | 198 | bc) | 124 | bc) | 1.18 111 | be)
(n=3,648) | (1.13) (1.18) (0.63) (0.63) (0.50)
NE 1.34 1.59 1.28 1.24 1.12
(n=1,393) | (0.86) (0.98) (0.69) 10,326 (0.46) (0.46)

HZ] oAl | 1.38 |4517*| 165 (4327 124 | e | 1.22 |4.700% 1.12 3.997*
T (n=2,432) | (0.93) | (efy | (1.01) | (ef) |(0.57) (df e (0.51) | (df) | (0.46) |~
A2 1.32 1.59 1.20 ’ 1.19 1.10
(n=5,610) | (0.88) (0.98) (0.60) (0.44) (0.40)
orE A | 131 1.58 1.22 1.20 1.10
(n=8,513) | (0.87) (0.97) (0.59) (0.59) (0.44)
= [stemoiy| 150 |1/20 g 1216 g ST o s a0s1| 16 4717
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A /I//(SD) 1.34(.89) 1.60(,99) 1.23(.61) 1.21(59) 11(.46)

*mo5 0001, *** (001
"X a=Z58W, b=E81L, =158, d=ME, e=ZYA|, FAZ, g=UEBINE, h=BtR RN, ERATHY
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SEX £4 M=) | Hef 93 | 1~2 3~4H | sH old | RSHE
B 100(9.435) | 85.2 4.9 1.0 8.7 0.1

s EAt [100(4,874)| 789 6.7 1.3 13,1 0.1
°= Oixt  |100(4,561)|  92.0 3.0 08 4.1 0.0
Z53t [100(2,943)|  97.1 23 0.2 0.3 0.1

wg¥ | Bstm |100(2,844) | 840 6.9 1.4 7.6 0.1
1S3 100(3.648)| 76.7 5.4 1.5 16.4 0.0

M& [100(1,393)| 846 6.2 0.6 8.5 0.0

AEX | BHAl [100(2,432) | 831 5.6 1.2 10,1 0.0
A2 ]100(5,610)|  86.3 43 1.1 8.2 0.1
UE2I1Y11008,513)|  86.2 4.8 0.9 8.0 0.1
HEFY |BREIFY) 100(743) | 75.8 5.9 22 16.2 0.0
Z£70% | 100(82) 80.5 7.3 2.4 9.8 0.0
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M 100(9.435) |  64.9 20.0 53 9.7 0.1
o EAt1100(4,874) | 60.1 21.2 5.4 13.2 0.1
c= o4kt | 100(4,561) |  70.0 18.8 5.1 6.0 0.0
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AZEX | HHAl ]1100(2,432) | 625 204 6.5 10.6 0.0
A2 | 100(5,610) |  65.6 20.0 4.9 9.3 0.1
U=E@IPY1100(8,513) | 658 19.9 5.1 9.1 0.1
HETY BRI | 100(743) 55.5 21.5 7.3 15.7 0.0
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M 100(9.435)| 835 12.8 1.9 1.7 0.1

o HAk1100(4,874) | 793 15,7 2.6 2.4 0.1
°= OiAb | 100(4,561)|  88.0 9.6 1.2 1.0 0.1
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i EAt |100(4,874)| 78.3 16.0 2.9 2.6 0.2
c= o4t [100(4.561)| 92.7 5.8 1.0 0.5 0.0
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TS5 100(3,648)| 87.2 9.5 1.5 1.7 0.1

M& [100(1,393)| 831 11.9 3.2 1.8 0.1

AZEX | HSAl [100(2,432)| 840 12,6 1.9 1.4 0.2
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HEX| ZHAl {100(2,432) 39 15.3 25.3 52.9 2.5
Al 100(5,610) 3.9 15.0 248 545 1.7
NE2M AETIIHY | 100(8,513) 3.8 14.9 255 55.7 0.0
B StEDIEY | 100(743) 7.1 226 25.8 443 0.1
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Abstract
ﬁ

A study on mental health improvement policy for children and
adolescents . Statistics

It developed survey instrument to understand children and adolescents' mental
health and conducted nationwide survey. This year of 2011 is the first year survey
of children and adolescents' mental health and two consecutive and repetitive
cross—sectional researches are planned to be conducted from 2012 to 2013,

Population for the survey of children and adolescents' mental health is elementary,
middle, and high school students in nation and investigation method is to conduct
nationwide sampling investigation with annals of educational statistics as the sampling
frame by using stratified multi—stage sampling, Population is boys and girls
elementary school students(elementary school 4th ~ 6th grade), middle school (1st
~ 3rd grade), and high school students (Ist ~ 3rd grade) including general high
schools and specialized high schools in 16 cities and provinces of nation.,

Investigation area composing the survey instrument is classified into 4 large
areas such as personal, family, school, and local community area, The personal
area in the large area was composed of negative elements with depression, anxiety,
game addiction, suicide, stress, and misdeed and positive elements with life
satisfaction, self—respect, self—efficiency, emotional control, and optimism, Family
area was composed of parents support and quality of family relationship, and local
community area comprised support of local community and interaction of local
community, At last, school area comprised school classes, relationship with teachers,
relationship with friends, and school life,

The investigation result will be accumulated as a time series cross—section data
and also monitoring materials to understand changes of our children and adolescents'
mental health and can be utilized to establish efficient policy and set up promotion
direction,

Key words: actual situation of mental health, repetitive cross—section investigation,
aspect of changes, sampling investigation
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